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Proof. invlex O, 0000000 xq ¢ Tp,x2 > Tp_1,... 000000 lex
0o0O0o0ooOoooOoooOoooooooon.
000000000000 oo0. key,ze,...,z,) 00 (DDOO0O) OO

F:klxy,xo,...,x0] = k[z1,29,...,2,] U
F(a)=a
F(xm) = Tn—m+1
F(f+9)=F(f)+ F(g)
F(fg)=F(f)F(g)

(a €k, f,g€klr1,2za,...,2,])

0000. (0000000 f,¢0000000000, F(f+g)=F(f)+
Flgp)UODOO,0000000000.)

F'=FO000, f >iniex 9= F(f) >tex F(9), f >1ex 9= F(f) >inviea
F(¢y0OOOOOOOO.

F-'=FO0O0OO00OD F20000000000000.

ack000, F(F(a)) = F(a) = a.

Ty 000, F(F(zm)) = F(Tn—my1) = F(Tp_(n—m+1)+1) = Tm-

000 fe€klr,2e,...,2,)] 0, k00000 2, (m=1,2,...,n) 000
00000OO00,000000000 F(F(f))=f0000.

F-l=FO0 FOOOUOOOOOOOOO,000 f > 9= F(f) >invies
F(g)0OOoooo.

goooooobo FOOOOOOO.

F(Zm) = Tn-ms1 00 F(z*) =2% (¢/ 0 « 00000000D000).
F(z°8) = F(z2P) = F(z*)F(2f) = 2® 2P =z +F = z(e+8) 0O, O
00 « 0000 o (F(z*)O0OUO0OO)0 «00O0O0O0OOOOOOODOODO.

f=ar®,g=0bx000.

f>ee9gea—p0000000000O00OOODO
o -/ 00000000000000
& az® >invlex bt
& F(az®) >inres F(b2?)
& F(f) >invtex F(g)



